BP"Allersheim", Gem. Schwindegg: ca. Flachenzusammenstellung (I1t.CAD):

Parz.Nr. 1 1993 m?|Garagen Offentl. Verkehrsflichen 6404 m?
2 688 m?|E Offentlicher FuRweg 660 m?
3 705 m?|E Wirtschaftsweg | 90 m?
4 589 m?|E Offentliche Parkplatze 310 m?
5 780 m?|E 7464 m?| 11,0%
6 788 m?|E oder D
7 618 m?|E Griin- u. Ausgleichsflachen 30426 m?| 42,0%
8 850 m?|E
9] 1160 m?|E oderD Nettobauland 33615 m?| 47,0%

10 774 m?|E oder D Bruttobauland 71505 m?| 100,0%
11| 1090 m?|GB (max.10 WE)
12| 1028 m?|GB (max.10 WE)
13 864 m?(GB (max.10 WE)
14 886 m?|GB (max.10 WE)
15 528 m?|E
16 570 m?|E
17 609 m?|E oder D
18 627 m?|E
19 567 m?|E
20 580 m?|E
21 518 m?|E
22 535 m?|E
23 535 m?|E
24 640 m?|E oder D
25 613 m?|E oder D
26 621 m?|E oder D
27 615 m?|E
28 559 m?|E
29 570 m?|E
30 563 m?|E
31 571 m?|E
32 631 m?|E
33 811 m?|GB (max 5 WE)
34 898 m2|GB (max 5 WE)
35 865 m?|GB (max 5 WE)
36 881 m2|GB (max 5 WE)
37 883 m?|GB (max 5 WE)
38 505 m?(E
39 511 m?[E
40 502 m?(E
41 512 m?(E
42 520 m?[E
43 551 m?|E WE = Wohneinheiten
44 745 m?|E oder D E = Einzelhausbebauung
45 731 m?|Eoder D D = Doppelhausbebauung
46 727 m?|E oder D GB = Geschosswohnungsbau
47 708 m?2|E oder D
m

Netto-Bauland:

N

33615







